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4.

5.

6.

Part I Analysis and Translation

of Individual English Sentences

Exercise 1

Articles, Coordinators and Numerals

Put the following sentences into Chinese.

(1
The solution of an equation generally requires a
combination of the basic operations,
The unit of potential difference is the volt.
A magnet in a magnetic field will he _-yhisct ‘0 a
force. T
In this case the current exists for only half the
cycle. :
Starting ffom rest, how long a time will it take the
cylinder to6 make 12 revolutions?
We find that we are dealing with too large a class
of circuits.
Any preexisting illness, even as mild a one as the
common cold, increases the chances of contracting
another disease,
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10,

11,

i2.

13,

14,

15,

16.

17,

We use as low an order of polynomial as appears
plausible.

How great a tangential force would have to be applied
to the earth's equator for a year in order to stop the
earth from rotating?

This point should represent as high a value of the
magnstic induction as possible.

The farad is too large a unit that, for practical
purposzs, it is usually replaced by the microfarad
or picofarad.

¢ may be as small a positive constant as you please.
The action force acts on the objects, and the reacting
force acts on the agent applying the foree.

At first glance, it seems that the causes of the mag-
netic field observed around a bar magnet and of
the identical sort of magnetic field around a current—
carrying wire must be entirely different.

This equation has no roots, for the sum of three
squares can not be equal to - 1.

Evidently a conductor must be supported on an
insulating handle or the charges developed on it will
at once leak away.

It is assumed that gas molecules have volumes s0
small as to be negligible, that they exert no forces
upon one another except in actual collisions, that

these collisions conserve kinetic energy, and that the:

« 7.



18,
19.
20,

24,

25,

26.

27,

28.

molecules have no kinetic energy of rotation or in-
ternal vibration.
All gate times are increased by a factor of 8.
This hvﬂfanho press is 90% efficient.
So—called "standard resistors'' are available commer--
cially with resistances ranging from 0.001 ohm to
10,000 ohms, accurate to within a few hundredths
of one per cent.
These particles are capable of traveling a few tenths
or hundredths of a millimeter through solids.
Something traveling at nine—tenths the speed of light
is shortened to 43. 6%. '
When one's face is 9 in. from the mirror, the image
one sees is magnified twice.
The presence of the iron in the coil has increased
the magnetic induction to over 5500 times what it
would be if the coil were in vacuum.
Fahrenheit degrees are five-ninths as large as celsius
degrees.
The wavelength of this musical note is 7.8 ft, over
three times longer than the wavelength of the same
note in air (2.5 ft).
Their difference in this case is only 13 parts in a
thousand.

(2)
This would involve too extended a treatment’ of the

. 3
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32,

33,

34.

35.;

theory of elasticity.

A change in direction represents as real an accele—
ration as a change in speed.

So instinctive an act as choosing a gradual slope of
a hill to walk up instead of a stccp‘Elope is based
on the principle of the inclined plane.

This will allow as broad a field as possible to be
covered.

Often the data cover too large a range of values to
be plotted on ordinary graph paper.

The capacitance will decrease by 750 parts per mii-
lion per each degree rise in temperature.

To illustrate a8 second difficulty that may atise
during subtractive operations, consider the follow~
irg example.

The input numbers must be encoded in some BCD
representation, making the total number of Boolean
inputs at least 8.

Exercise 2
Prepositional Phrases

State the functions of the prepositional phrases in

the sentences below and then put the sentences into
Chinese,

4 e



36,
37.

38,

39.

40.

i1,

42,

43,

44,

45,

46.

47,

(n

This section may be of interest to students.
Another geometric application of radians is in find-
ing the area of a sector of a circle,
In this example, the motion must be along the
slope.
One of the clearest ways to demonstrate the varig—
tion of the trigonometric functions is by means of
their graphs.
The resistance of the load is too high for the
amplifier.
A circuit may be defined as a path for current
flow.
Motion with constant acceleration is motion under
the action of a constant force.
Friction arises from the nature of the contact be-
tween the floor and box.
The condition for particle equilibrium may be ex-
pressed in the form

_ 2F=0,
An apple of mass 0.5 kg is on a branch 5 m from
the ground.
From the pattern of lines of force around cach wire,
it is clear that the forces are always opposite in
direction.
The potentiometer described above can be read

.’,5 -



48,
49,
50,
51,
52.
53.
54.
55,
56,

57.
58‘

59,

60,

within 107* volt.

These transistor 'circuits can amplify voltage signals
with minimum waveform distortion.

Electric power is expended in forcing a current
through the resistance of the conductor.

The capacitive reactance is appreciable except at fre-—-
quencies near the high—frequency cutoff.
Communications on earth can be improved with the
use of laser beams.

For every force in one direction there is an equajl
force in the opposite direction.

The charge on the equivalent capacitor must equal
the sum of the charges on the two capacitors.
Motion may be defined as a continuous change of
a body in position.

The sound—carrying medium may be matter in any
state.

The properties of the medium affect the speed of
sound in two ways.

Sound waves are vibrations in the medium.

Diesel cngines are one of the main sources of power
for ships and locomotives.

It is possible for you to find the difference between
high and low frequency sound waves.

I' can be expanded in a power series about the point

xX=a.

g -
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62,
63.
64,

65,

66,
67,

68,
.69,
70.

71,

72,

73.

74.

75,

Most of the fuel we use today comes from under the
ground. * ’\../;.g
Electricity goes through the circuit.
Energy can do work for us.
Often it is to our advantage to do workﬂ applying:
a small force over a long distance.
We consider it of great importance that theory
should be combined with practice.
All substances on the earth are made up of atoms.
The switches in the box control the lights in that
lahoratory.
Antennas must be in electromagnetic fields.
We use magnets in motors.
In an electric cell, an electric current is produced
by the chemical changes of the chemicals in it.
Our earth is a big magnet with an N pole and an
S pole.
In a normal atom the positive charge on the nucleus
is exactly balanced by the negative charges on the
electrons.
Light from common sources travel in all directions
from the source.

(2
Alternating current as a source of power has cer—
tain advantages over direct current.
Equations (2-3) through (2-5) are true for all ca—

c 7.



76.

77,

78,

79,

80,

81,

82.
-83.

pacitors regardless of their construction.

A suspended object is in equilibrium when the
tension in the rope is equal in magnitude to the
weight of the object.

A thickening agent has been added to prevent the
oil from running out from between the surfaces
involved.

Cver about the first 50 years of this century, these
were the outstanding inventions.

The radio waves that bring us music and speech are
usually between 200 and 600 meters long.

The letter E by the cell stands for clectromotive
force.

File transfers to and from the hard disks occur
from 6 to 10 times faster than is commonly seer: in
floppy disk systems.

The authors are with the IBM laboratories.

The errors will be small of order two in 1/R..

Exercise 3

Verbs and Adverbs

Analyze the following sentences and then put them

into Chinese,

84'

(1
The bel has proved to be a little too large for con—

8 .



85,

86.

91,

92,

93,
94,

95,

06,

97.
928,

venient use.

A force F acting on a mass m will give it a linear
acceleration of a=F/m.

These laws tell us the acceleration given to a par—
ticle by its interactions with the other particles.
In everyday life, forces seem to be transmitted by
“direct contact.” ,
There appear to be two kinds of electric charge.

In rotational motion, torque plays the same role
that force does in translational motion.

The first result looks reasonable, for the area under
the curve might well be 2 units.

The integrands of these integrals do not remain
finite,

It turns out to be more convenient to use polar-
coordinates. _ '
A I2-1b book lies stationary on a table.

The amplitude of this kind of currents stays con—
stant.

At the resonant frequency Z,,(jw) appears purely
resistive,

When resistances are connected in series, we need
only add them together.

The enabling signal goes FALSE.

A change in the current in a wire loop gives rise:
to an induced emf in another loop nearby.
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i00.

104,

105,

106,

107,

108,

109,

‘110,

Molecules at the hot end of a rod vibrate faster
and faster as the temperature there increases.
Their total momentum before they collide equals
their total momentum afterward.

Potential cnergy refers to the energy something
has as a consequence of its position anywhere.
To get out a car that is stuck in mud, the driver
ties one end of a rope to the car and the other 0
a tree 100 ft away.

Most substances fall into one or the other of the
two classes above.

The table below gives the proper values for the
graph of y=cos x.

The size of the plates, their distance apart, ctec.,
have nothing to do with the voltage of a battery,
The major features here can be explained qua-
litatively as follows.

The amplifier will give a large enough gain so
that the signal can be observed at the output.
The light is illuminated if one switch is up and
one is down, It is off if both are up or both are
down.

Various parameters of the model are given in the
list below.

In insulators loose electrons nearby are prevented
from moving about.
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